
Homework 3 Math-1700-es31 2013 January 15

7.2.7 There s no hope of solving this equation with the technique that we know, but that s OK; we only have to
check the solution that s given to us.

First, if y = 1/x cos x, then
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cosx− 1
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sin x,

so
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− 1
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1
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cosx = − sin x,

so the equation is satis�ed.
Next, if x = π/2, then

y =
1

π/2
cos
�

π

2

�
= 0,

so the initial condition is satis�ed.
Therefore, the solution given is correct.

7.2.11
dy

dx
= ex−y;

dy =
ex

ey
dx;

ey dy = ex dx;w
ey dy =

w
ex dx;

ey = ex + C;
y = ln (ex + C).

7.2.35 The easiest way to do this is to use
A = P2−t/h

with h = 24 360 years. Solve for t:
A = P2−t/h;
A

P
= 2−t/h;

log2

�
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�
= − t

h
;

t = −h log2

�
A

P

�
.

When 80 percent is gone, 20 percent is left, so A = 20/100 P . Therefore,

t = −24 360 y log2

�
20
100

�
= −24 360

ln 0.2
ln 2

y ≈ 56 600 y

(where `y' is the abbreviation for years).
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